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: All questions are compulsory.
Marks are indicated against each question.
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1. (a) “The equality between Marginal Rate of Substitu-

tion and Pyx/Py indicates a balancing of the
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subjective valuation of the goods (X, Y) with their
objective cost in the marketplace.” Explain with
the help of Indifference Curves and Budget Line.

“ufqemed it |iHia g 91 Py/Py § WHFAr AW

(b)

(X, Y) & Afvaies Jedisd R 39 ISR |
¥ REARE ar@ F Wgew A A 17 awe

Y@ qur Serdiar SRl H WEEar ¥ 9HSRET | ;

If the demand curve is a rectangular hyperbola,
what will be the value of MR? Comment on the
nature of relationship between EOD and TR.

ﬂﬁﬁnmmmm%?hMRm
TeI FA1 B ? EOD a9T TR & Y &t Wi

- @ fewuit sifer | ‘ 8

(2)

(b)

Or (3rgar)
Draw a set of indifference curves relating to two
economic ‘bads’ such as pollution and work. What
characteristics do these curves have?

A s QU (bads), AV o wgwor qer wd, ¥
TEgd ISTEAAr TRl T GHE TR | §F TRl i
 ferdwand €2 7

The table below gives two demand schedules.
Using only the total expenditure criterion,

determine if these demand curves are elastic or
inelastic. ]

fr=r aiferest @ At erHEt <wl @R | Faw Fa

. Explain  the

9 801

. What is law of variable proportion and why is it

applicable in short run only?

fadaeita oua w1 fraw w1 R, stk @@ Fae
sTearafy § @l anp dran @ 2

- Explain the difference between Perfect Competition
and Monopoly.

of sfaaifimar ©e THfasR 3R awesy |

difference between Product
Differentiation and Price Discrimination.

3 fadeier od @iwa S ¥ R wwEEy |

. What is the difference between Monopoly 'and

Monopolistic Competition?

THITGHR U6 U gehrenss Sfaaifimar & =2 a7 & ?

10. What are the characteristics of Oligopoly and how

does it differ from Duopoly?

Fenfysr &t favwand == 37 a8 gafusr @ R
fa=r 22
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For Visually Challenged Candidates only

Attempt any five questions.
All questions carry equal marks.

&=l ol g9t & 37 ST
gt ye & ofF quT #

. What is demand? Explain the elasticity of demand.

[l o 8 2 Wi & S @ WHSE |

. What are the factors affecting demand of the product?

MR F G S IHIFET I Gl HEH FqT 8 2

. What is indifference curve? Explain the assumptions

of indifference curve.

SerfTa 9% w1 8?7 e a% a wreaaneh @
HHHART |

. What do you mean by consumer equilibrium with

reference to indifference curve?
A O & "o ¥ Iudigdr & Hqed ¥ S Fa
I § 2

. Explain economies and diseconomies of scale.

dar &t fudsafaad g srafiaeafaan 99eEy |
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: _
=9 WIYeUE H YA &0h fraifE wifae s 3
Wi 9% SEER 8 AYal STEreRER |

P(Rs)| 6 5 4 W 1

Ox 100 | 110 120 150 200 300

Oy 100 150 225 325 500 | 1100

2. (a)

(®)

(a)

8

Isoquants can be convex, linear or L-shaped.
What does each of these shapes tell you about the
nature of the production function and the MRTS?
Isoquants &t 3THfd 37, @ Sgar L SR
& A WHA ¢ W TER F IMER IARA Fed
Ft UHa AAM MRTS F TR T Fraqd 62 7
Why is the Marginal Product of Labour likely to
increase initially in the short run as more of the

variable input is hired? Explain with the help of a
diagram.

o9 H HiHid IR FuEty ¥ 3w A = ag
HHA § W S GREd g e wW W AR
fan srar 2 7 fag 9 weEaT ¥ HER | 8

Or (319ar)

If the firm’s average cost curves are U-shaped,
why does its average variable cost curve achieve
its minimum at a lower level of output than the
average total cost curve?

afe & & aitud @@ 9% U AR & § a9
39+ Itgd gfEdg @rE 9% SARed ¥
hi f P TO.
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3. (a)

(b)

(a)

4

TR AW e T WS @ st e
AN @5 o W W | 7
What is the relevance of Accounting cost,
Economic cost and Opportunity cost in making
any economic decision?

N@IHT A, W Ao W s e &
ferst it snftfe fofa & s orifivesar 22 8

In the long run equilibrium, all firms in the
Perfect Competitive industry earn zero economic
profit. Why is this true? Explain with a diagram.

dufafy @< ¥ qof shrerafers s 51 g
W anfds oW wAh ¥ uw = W 22

YAl ¥ HHIET | 7'

What is elasticity of supply? Draw supply curve

showing elasticity of supply: (i) equal to one, (ii)
greater than one, (iii) less than one.

sqfd ® o= w2 g W amw R

A H AT (i) T F W B, (i) T A >

2, (i) T & F 2| 8

Or (3rgan)
What are fixed costs? When does the perfectly
competitive firm decide to shut down? When does
it actually shut down? '

fer @ & R 7 qofe: shrerafors wf @9 9=

(b)

Price

$1

9 801
sfawirdl & 77 fearr § 5 el o fe
21 wwem 7

The diagram shows which model of Oligopoly
market? The rise or fall in variable cost may or
may not lead to change in Equilibrium Prices and
Output. Explain.

fr faa seufasr & few w0 =1 qolfar 82
IfRadHE @rg ¥ IaR A1 9@ dqad Hal qd
e ¥ qfidaT o ft wEdt § ok Ad ft o
Hahdl | HFRY | ; ; 8
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(b) What is the cross elasticity of demand when two
; commodities are (i) substitutes, (ii) complements
for each other? How can we define an industry by
using cross elasticities and what difficulties does it
lead to?

uin 3t wfada =0 A ¢ 9@ A TR Wgm
& fag (i) &A=, (i) [ 82 saaE @
I HEH T TEH IA W FA IRWfE =
T ¢ 3R 3 foT wfegal S o e
22 ' 7.5

4. Compare Perfect Competition and Moﬁopoly with
respect to: ‘ : :

(a) Price and Output

(b) Welfare. :

oof e T TEfUER S Qe T wEew A

Fifaw:

(a) T T TN

(b) eIl | V 15
Or (19an) l

Write short notes on:

(a) Social cost of monopoly power
‘ PR
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(b) Public policy towards monopolies.

dftra feooft fafaw

(a) THITYSHR vifed it GmISS @mTd

(b) TEHTaERI & fag ardafe fifa 7-5,7-5
5. (a) Is Monopolistic competition socially undesirable

(®)

market structure that should be regulated? Give
reasons. : :

T THTaHRIS Sfaersf qmfes &9 9 sEifed
AR fmin @ faaw fraes smeEvas 22 o
HiEed! - 7
The essence of the Cournot Model is that each

firm treats the output level of its competitors as
fixed when deciding how much to produce.

Explain.

A ey W WR W R fF s wd e
yfedifEl & 3 W’ # feR An oW 3W @
fifa &1 & fF fea Saee e smn 2

HHHARY |
8

Or (3rgarn)

The prisoner dilemma is an exercise that will show
the participants that cooperation is a choice.
Explain.

& gfaur (prisoner dilemma) T® FWAH T W

-



